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datd] (52) SEDD AWLF L (FEKE-EKE) -




2 2 {8 A B i ==

%k
&S 3150 | [SE 58 E5iES| 3150 |EitmpmeEE
BHMa# |BEER 1—FNo e & 1.00 VERRE L = =mrmausss| | RTENEBE|
B8 [EMER 150m e e | HNEEAME B o= |jeEessonss
#E|HEN| £ G R 1% = |BEf| B (£ 2| H i | £ & 2 H# | £ %8
* 16 ;B =HEm ReFZfiTEEEHEE 0.090]" A 47,100 4239 47,100 4,239 0.090 4,239
* 17 B =HEhE ReZfiTEEEHEE 0.090] A 36,900 3,321} 36,900 3,321 0.090 3,321
* 18 =BhF ReFZfiTEEEHEE 0.000" A 34,600 0| 34,600 0 0.000 0
* 19| Bl=®@EBE ReFMTEREEHEE 0.180] A 25,900 4662|° 25,900 4,662 0.180 4,662
501 [ EZEREXHE] (HeeEcxTaae 5.000 % 12.222 611 0 0 0.000 0
502| MR E(REEHE] |HEsBE NI IHE 1.500)° % 12,222 183 0 0 0.000 ol
g 13,016 12,222 0.360| 12,222
=1 yliii 1.0 XHY 13,016
EEAGE ' 12.922
ZTDMEE 794

datd (B=) SR EniEE 050kmkm 02 Hw & 00




2 & {8 S Bl =R

] 3151 | = 58 EGES| 3151  |miaheE=
BlaF [ZEPDEE=E 31—FNo RO & 1.00 EpE Al K =mbmalzsw| | BRITENEBH
B & [ERER 150m J P # 3 NEEAGE B o= |feEesonss)
e e 1 % & B & |Bfu| B I | = 2 | B m | = % > B3| & 2
* 16 Al S HEm RefEflT B EEHEE / 0350/ A 47,100 16,485 47,100 16,485 0.220 10,362
* 17| Bl = B En ReFIMTEREEHEE /0.390| A 36,900 14,391 36,900 14,391 0.250 9,225
* 18 EBhF ReFEfiTEEEHEE 70.500 A 34,600 17,300/ 34,600 17,300 0.500/ 17,300
* 19 BlEmBE RéGEMTEEEHEE 1510 A 25,900 39,109] 25,900 39,109 1.510)° 39,109
: 501 | M ER=XEHE] |dasEcxndsae 5.000/ % 87,285 4,364 0 0 0.000 0
S502| MR E B EK] [RELB|NT 388 1.500]" % 87,285 1,309 0 0 0.000 0
& 92,958 87,285 2480 75,996
B {iff 1.0 XHY 92,958
EEAGE 87,285
ZDHRE 5,673

data
6

(&%) ILIITHA EmiEE 050km3kim 02 Huw & 00




J*]Eﬂilﬂll E{fi &

FHES 3152 | miu 58 ERES| 3152 |smlkanem=
H il ¥ [{EEHEIE 31—FNo 3% 1.00 YERR B 5L = E5)I| LA R ?&fﬁ%%%ﬂ%&
B & (ERER 150m i ffA B NEEAE B o= |jeEessonss)
I 7 H % T |Bf| B W | = %28 | B | £ & 7 0% | = 28 | %E
* 16| Bl = HEfi ReFEfiTEEEHEE / 0.070] A 47,100 3,297 47,100 3,297 0.000 0
* 17| Bl =B A0 RefEfiT B EEHEE 0.340 A 36,900 12,546 36,900 12,546 0.230 8,487
* 18[BI=BIF RefFEfiTEEEHEE 1 0.690] A 34,600 23,874] 34,600 . 23,874 0.470" 16,262
* 19 BlEMBE RefFEfiTEEEHEE 0470 A 25,900 12,173|" 25,900 12,173 0.470} 12,173
501 [ ZR=EH] (ReLBEcIdEE 5.000 % 51,890 2,595 0 0 0.000 0
502 B RS XH] (RRLBEHIIEE 1.500] % 51,890 778 0 0 10.000 0
B - 55,263 51,890 1.170| 36,922
B {f 1.0 XHY 55,263
EEALGE 51,890
ZDEE 3373

data (B2) M FE EnmEk 050kmEiE 02 i & 00




2R 2 (B Al B R

FHES 3153 | = 58 ELES| 3153 |mlaneE=
B A ¥ [({EEEHEE 31—FNo e DB 1.00 YERREE 5L = e | B E EE
£ & AISER 1,080m i o # - NEEARE B o= ||BE0ssonEs)
WE|EMmNo| & T ] 1% E | B B | & %2 | B M | = 4 : B3 | = 28
* 16| Al =HEm RéFfiTEEERLE 0.860|" A 47,100 40,506] 47,100 40,506 0.540 25,434
* 17| Bl EBETHE ReZfiTEEEHEE 4640 A 36,900 171,216/ 36,900 171,216 3.130|" 115,497
* 18| BI=BIF ReFITEEEHEE 4640/ A 34,600 160,544 34,600 160,544 3.130 108,298
* 19[BEFHE ReFZfiTEEZEHEE 9.400 A 25,900 243,460/ 25,900 243,460 9.400| 243,460
501 [ EZREXFE] (ReLBEIdEE 5.000/ % 615,726 30,786 0 0 0.000 0
502 | E IS XK [REeBHT3EE 1.500{ % 615,726 9,236 0 0 0.000 0
§ 655,748 615,726 16.200| 492,689
=1 {iff 1.0 XHY 655,748
EEAGE 615,726
ZDIFE . 40,022
data (j&=) ) N & 1EPr sl 30m~50m 0 HEiW 0.0
6




Hil=w R

e 3154 ] =2 53 EE2| 3154 |mianeE=s
Hm& T [HSEYREiEe 1—-FNo D& 1.00 VER B i = =wemausem| | BRATENEB R
B 5 [1HEE 1 i 3 | HNEEAHRE B o= ||BE0ss0nEs)
e 2 i 5 1& = |Efu| B i | & 2 | B M | = % " HE | = 28
* 16 ;B =6 Re¥:fii & EEHEE 0.340]" A 47,100 16,014| 47,100 16,014 0.280| 13,188
* 17| Bl = HEh#E ReFEfiTEEEHEE 0.510° A 36,900 18,819/ 36,900 18,819 0.280| 10,332
* 18[BI=BIF ReZfiTEEAEHEE 0.510[ A 34,600 17,646 34,600 17,646 0.280 9,688
* 19 Bl EMBE RefEflT B EEHEE 0.830] A 25,900 21,497 25,900 21,497 0.830 21,497
501 | B AEETF] IMeLBEcNT 28 5.000{ % 73,976 3,699 0 0 0.000 0
502 HEEBEEE] |NELHECHTIEE 1.500]" % 73,976 1,110 0 0 0.000 0
B 78,785 73,976 1.670| 54,705
B {if 1.0 XHY 78,785
EEAGE 73,976
ZDREE 4,809

|data (B=) T % BEEE 50mElE 0.1 MR & 00

6




5 2 {8 A LAl ==

*
I ES 3155 | =40 58 EiEE| 3155 |sEitmmeEsE
& | FEBEIERA I—FNo (3 %snss 1.00 VERE L = =5 tmausew| | FATENEB
B & ZFER 150m HYEs 1% & NEZAGE B o= ||[RE2s0nES)
HE[EM@Ne| % 1 B 1& B = |Efv| B i | = 2 | B m | = %8 Rl HE | = 2
" 16 ;B =FHEm R EEERLE 0.120° A 47,100 5,652 47,100 5,652 0.000 0
* 17| Bl =HEh#E ReFEfiTEEEHEE 0.240 A 36,900 8,856| 36,900 8,856 0.000 0
* 18 ;B =BhF ReFEfiTEEEHEE 0.000] A 34,600 0| 34,600 0 0.000 0
* 19 B EHBE ReFMTEEERE 0.000] A 25,900 0| 25,900 0 0.000 0
501 (M HEEVAEXTE] MBI IEE 1.500[ % 14,508 218 0 0 0.000 0
& 14,726 14,508 0.000 0
B i 1.0 XHY 14,726
EEALE 14,508
ZDMEE 218
datd (=) M M8 =R 050kmkm —0.2 Zmiemle 10m —0.2
: A




2R 2 {8 1 B fifi 2=

*
I H &= 3160 | =5 58 ZES| 3160 |EitmmcE=
HEEH |BEER I-FNo e & 1.00 ERCE 5L = =mrmausgm| | RITENEBE
5 ERER 350m i L # ] NEEZARE B o= ||[REDs0ES
HEE@No| % T = 1& B = |Elu| B W | & 28 | B m | = % E B3 | = %8
* 16 ;B = HEm RefEfiTEEEHEE 0.210" A 47,100 9,891 47,100 9,891 0.210 9,891
* 17| Bl =B ReZfiTEEEHEE 0.210/" A 36,900 7,749 36,900 7,749 0.210 7,749
* 18| BI=BIF ReFZfiTEEZEREE 0.000[ A 34,600 0| 34,600 0 0.000 0
* 9B EFEE ReFEMIEREHE 0.420]" A 25,900 10,878| 25,900 10,878 0.420 10,878
501 [ M ERA=XEHE] desEcndsae 5.000[ % 28,518 1,426 0 0 0.000 0
502| MR B ELHK] |HasEcdT3aE 1.500{ % 28,518 428 0 0 0.000 0
g 30,372 28,518 0.840/ 28,518
B {iff 1.0 XHY 30,372
EEAGE 28,518
ZTDMEE 1,854
datd (BZ=) BDD ZmiEk 050kmkm 02 Hiw & 00
6 y




FHEEAEME

e 3161 | = 58 ELES| 3161 |ELlanEE=
BEl&#H [ZERDRAIE 1—-FNo E D 1.00 VERC BT = =mrmanssm| | FRITENEBE
B & [ERER 350m e T f 8 NEEAGE B o= |fesEessonss)
RS 5 o 1% H = |HEfu| B @ | £ | E M@ | £ £ = H# | £ %
* 16|82 F AT RetRfiTEEAE R 0790 A 47,100 37,209| 47,100 37,209 0500  23,550|
* 17| BlSHEEh#E ReZfTEEERLE 0.930| A 36,900 34,317 - 36,900 34,317 0590 21,771
* 18| BI=BIF ReZ T EEEHEE 1.180] A 34,600 40,828| 34,600 40,828 1.180[ 40,828
* 19BlEfEBE ReZ T EEERHEE 3530 A 25,900 91,427/ 25,900 91,427 3.530| 91,427
501 | M HEHEXTHE] (HELBIcHTIEE 5.000] % 203,781 10,189 0 0 0.000 0
502 | MR E RS E£E] [ReLEcT3EE 1.500{ % 203,781 3,057 0 0 0.000 0
: 217,027 203,781 5.800] 177,576
B {if 1.0 X &Y 217,027
EEAGE 203,781
ZDMEE ' 13,246
datal (BE) BODD ZmiLk 0.50km*k;m 0.2 Hix & 0.0
P :




a2 1 A1 B i 3=

3162

FHES | =0 58 ZnES| 3162 |smltzxemEs
B & [EEHEE = 1—FNo R & 1.00 {ERL BT = =mtmanzem| | BRATENFEB
B & |ZRER 350m = & 1% 3 NEEAGE B = ||[RE0s0sEs)
HE|EM@No| % 1 = % B = |BEfv| B | & 2 | B fm | = %8 g B3| = 2 |
* 16 [ E AR ReZfiTEEEHES 0.170[" A 47,100 8,007|" 47,100 8,007 0.000 0
* 17| Al = AR ReFZfiTEEEHEE 0.800]" A 36,900 29,520 36,900 29,520 0.550| 20,295
* 18| BIEBIF Re&ZfiTEEEHLE 1.590° A 34,600 55,014/ 34,600 55,014 1.090/ 37,714
* 19| Bl E®EE ReFEfiTEEXEHEE ,1.090 A 25,900 28,231 25,900 28,231 1.090} 28,231
501 [ HER=XEHE] |das@Ecndsas 5.000]" % 120,772 6,039 0 0 0.000 0
502| MR EREEE] RSB HTIEE 1.500] % 120,772 1,812 0 0 0.000 0
& i 128,623 120,772 2.730|" 86,240
B ylii 1.0 XHY 128,623
EEAGE 120,772
ZDHRE 7,851
datd (j5=) EDD Einmkk 050kmEki7E 02 Hik & 0.0




AE A %

FHES

BIAHHEEE

3164 | = 58 EfkES| 3164
| Bl & S S sEER 1—FMNo BN B 1.00 YERLE 5L = =) cmaugsw| | BITESNFEBE
B & (21N _ e B NEEAGE B o= |fEosonEs)
e 2 i 5 % B = |BEfu| B Im | = 2 | B m | = % i H% | = %
* 16| Bl = HER RefEfiTEEEHEE 0.660] A 47,100 31,086 47,100 31,086 0.550| 25,905
* 17 B EHEE RefEflT B EEHEE 1.010]" - A 36,900 37,269 36,900 37,269 0.550| 20,295
* 18| BI=B1F ReFE T EEEHEE 1.010 A 34,600 34,946 34,600 34,946 0.550| 19,030
* 19 Al EMENE RefFZ T EEEHEE ,1.650]" A 25,900 42.735| - 25,900 42,735 1.650] 42,735
501 | R EA=XTE] HesEcnddae 5.000] % 146,036 7,302 0 : 0 0.000 0
502 B ERELE] |NeeEcHT 3R 1.500{ % 146,036 2,191 0 0 0.000 0
: . 155,529 146,036 3.300| 107,965
B {iff 1.0 &Y 155,529
EEAMLE 146,036
ZDMEE 9,493
data (j5%) SBDA EWiEE 50mElE 0.1 #HR & 00
6




A2 E B E &

*
EHES 3165 | =40 58 ZHES| 3165 |HEitmmEEE
B4 | FimRERA 1-FNo B D B 1.00 YERER {51 = =mrmanssm| | RITENEBH
B E [EHRER 350m ik 5 # 8 NEEAGE B o= |[RESsonES)
e 2 1 Wi B & |BEfu| B Im | = 2 | B W | = & 2 HE | ¢ 2
* 16 ;B E HEM ReFEfiTEEEHEE 0.120]° A 47,100 5,652]° 47,100 5,652 0.000 0
* 17 Al =HETHE ReZflTEEEHEE 0.240|" A 36,900 8,856 36,900 8,856 0.000 0
* 18;BIEBNF RefZ T EEEHEE 0.000] A 34,600 0| 34,600 0 0.000 0
* 19 Al =®mEE ReZATEHELEHEE| 0.000] A 25,900 0] 25900 0 0.000 0
501 (M EREXTF] (HeLEcTdEe 1.500] % 14,508 218 0 0 0.000 0
& 14,726 14,508 0.000 0
B {iff 1.0 XY 14,726
EEAGE 14,508
ZDHREE 218
data ((B%) BDD Emil 050kmEm —02 Zmrmibe 10m —0.2
6




REANE

€EEE 9|
T | BRI S [FH S ER S CEDLBL DI g I, C. ZHAHEEZ DMOMEBE LD, CkiE S 2B Al ANLET)
No B BRAEE — i ERERE | S REERE |SEpe@En)| KIRER [KEuedn)| BHEY |(BHAOEL
%J‘Agl#s 1 &= E%Dﬂﬁ ~ |&Emit Z_E[_]_]E]' 49.8 km km A km ] 025 A 00 B85
(->'<T§=E§5) 2 [mee [ RILET ~ |[&a|=Hm 49.8 km km M km M 025 H 00 85
i%'Aos ) 3 km km H km 53] 0.00 H 0.0 8%
= 4 km km A km A 0.00 H 0.0 8%
5 ~ km km M km ] 0.00 B 0.0 B
6 ~ km [ km A km ] 0.00 B 0.0 B%
HERE|HY|[  1.36 [HY: 51 ZED30/22(1.36)Z4E 4L EEAK=41EEH%(1.00)
No £ BRES —h%ERREE| SxEEERE |EEHe®ER)
1 |mme | A LIET ~ )T 470 km km A
515 2 | | A LLIHT ~ HDA 51.0 km km A
3 ~ |®15 km km &
4 ~ km km H
5 ~ km km H _ _




HESS

EBETR

TEEmEH

1

EDE. BB XIE AR R RHEEE | [mEE REEA B | fEoam] BEHHOH = 085
B H _ FEERE [aessd[aaae®m]  BE BEIHH
e [ FF&30km/h TR R 101 km 3 h
B R (L BF R 80km/h CET & km M M 0 h 00 H
3181 M | 2892 M
1A§J\0)¥—L$ km M M
TIAZDHEE km A A 00 H
: — IADDFE _ km A M
L] A5k eSS PRETEE [TeeEs 3 ]
#(B. BXIE AN [RLAHEES | (B0 REXSEE) | 1aa8] BHEOE S 0 8%
15 H _ FEEHE [aausEd[aase®En|] BE BEOX
e [ F5 & 30km/h TR R 101 km 3h
B R (L BF R 80km/h CET & km M M 0 h 00 H
3181 M | 2892 M
1A§J\0)¥—L$ km M M
TIADDHEE km A A 00 H
_ IADDEE km & A
BRETS AR AR | Ta ¢ ER 1 )
EDE. BB IR AR [RLRHEEE | [ElE REEA B | fEam] BEHHOH = 0E%
B B _ FEERE [aessd[aaae®n]  BE BEIHH
e [ FF & 30km/h TET R 101 km 3 h
R [ F5E80km/h TET R km &) & 0h 00 H
3181 M | 2892 M
TIADDHEE km &) &
‘ 1A DR km H =) 00 B
LI AD3% OO = H i
TAEER B
%(i)%ﬁlﬁgmﬂﬁiaﬂh Rt = B R CEREE 085
EERME |EEREED] EEHEEID ‘ ‘
—HRIE B [ B 30km/h TETE km H#ﬁ(;ﬁh EHEA
JEEJE B 8 [ B R 80km/h TET & km &) ] 0 h 00 H
: M 0
El TIASDHE km = E
B IADDHEE km M & 00 H
BRHR IAZDHS km ] =]




FAS|G-REETRBRENEE

B RE-HE-FARVHEERREXBEETEME

REEXS L SAM B BRI RE 5 EES
2 BERS -+ J1 G*J1 1,928 H U1+Vi1 0 M 1,928 H
- 2 BERS --J2 G*J2 1,928 H U2+v2 0 1,928 H
ABER
(XTEADEADH) 3856 H !
SI)TZ 2 BRRE ---K1 G*K1 1,928 H [©) 0 M 1,928 A =8 |- I-1
SHDA 2 BRRS K2 G*K2 1,928 H ® 0 M 1,928 A BEa [--I-2
HIGETREE
Hm-%5 & FA5E (BR1TE) BEET(EE)
ATRBSYREEES 2.7 L S1 —fRERIEH 498 km TNITE D —RERERE 47 km
BILHYA YV B 162 M-tk |T1 SEREREEH 0 km Q@ EEEREENH 0 km
C A iEH 527 M/h Ul BREREETH 0 M- Fiik Q@ EEEREETH 0 M- fiik
D — R ERREREHEE 30 km/h V1 KRS 0 M-8tk [ @ —HiRERERH 51 km
E SR ERREHERE 80 km/h S2 —fREK IR 498 km 6 EEEREEH 0 km
T2 EEERF R 0 km ® BEEBEFRTH 0 M- Btk
G FA b\ EERIRE (A*B+C) 964 F/EfE (U2 SEERERTH 0 M- Btk
V2 KRS 0 M- fiik




